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�������� âLPXUGD�V�U�R� ����� 7.2 '$1 1$' %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� %DQGtN�0DULiQ ����� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� %HĖXã�$QWRQ ����� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� %MHODN�5RPDQ��,QJ� ����� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� )HUQH]D�3HWHU ����� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� *RJRĐiN�ďXERPtU ����� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� +DMGXþtN�6WDQLVODY ����� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� .RKXĢiU�)UDQWLãHN ��� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� .XSþLN�0LODQ ����� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� .XUMDN�$QWRQ ����� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� .XUMDN�'DQLHO ����� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� .YLDWHN�$QWRQ ����� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� 3DSDM�7RPiã ��� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� 5HQWND�7RPiã ����� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� 8OU\FKRYi�'DQD ����� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

6SROX�]D�ÒþHW�9Ò%�D�V���YêSLV�þ�����ULDGRN����Y������������ ������

���������� +HUGHO�(GXDUG ����� '=1 '$1 3(6 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� +HUGHO�(GXDUG ����� '=1 '$1 32= %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� +HUGHO�(GXDUG ����� '=1 '$1 67$ %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

6SROX�]D�ÒþHW�9Ò%�D�V���YêSLV�þ�����ULDGRN���Y������������ �����

���������� %RURYMiNRYi�(YD��,QJ� ��� '=1 '$1 32= %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� %RURYMiNRYi�(YD��,QJ� ��� '=1 '$1 67$ %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

6SROX�]D�ÒþHW�9Ò%�D�V���YêSLV�þ�����ULDGRN���Y������������ �����

���������� %RURYMiNRYi�(YD��,QJ� ��� '=1 '$1 3(6 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� +DMGXNRYi�*DEULHOD��0 ����� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����

���������� ýHþRWND�3DYRO ����� 7.2 '$1 262 %$ ���������� ����� ÒþHW�9Ò%�D�V���YêSLV�þ�����ULD �����
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